Whitman College

Econ 107

Exam 2

February 27, 2004

Write all answers on your exam.  Show all of your work.  The exam ends at 10:50.

1.  (2pts each)  For each of the graphs (a)- (h) on this page and the next page, do the following.  If possible, label with an “a” the point on the graph at which diminishing marginal returns set in.  If is not possible to label the point at which diminishing marginal returns set in, explain why you cannot do this.
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2.  (a)  (2pts)  Define the short run.

(b) (8pts)  Draw a set of short run cost curves for a firm.  Your graph should include an average fixed cost curve, an average variable cost curve, an average total cost curve, and a marginal cost curve.  Assume that diminishing marginal returns set in at some point on your graph.  Be sure to label your axes. 

(b)  (10pts)  Suppose that this firm operates in a perfectly competitive industry.  On your graph above, indicate the firm’s supply curve.

3.  (a)  (2pts)  Define the long run.  

(b)  (10pts)  Suppose that in the long run a particular firm would experience economics of scale (also known as increasing returns to scale) if it produced quantities of output up to 100,000 units.  This firm would experience constant return to scale for output between 100,000 and 200,000 units.  The firm would experience diseconomies of scale (also known as decreasing returns to scale) for any output greater than 200,000 units.  Draw the long run average total cost (LRATC) curve for this firm.  Be sure to label your axes.  Indicate on your graph the quantities of 100,000 and 200,000 units of output.

(c)  (2pts)  Explain what causes diseconomies of scale.

For questions 4 through 6, suppose the following market demand for a particular product.  The product is divisible, so that if you graphed the demand curve, you would get a straight line.

	Price
	Quantity Demanded

	20
	0

	19
	1

	18
	2

	17
	3

	16
	4

	15
	5

	14
	6

	13
	7

	12
	8

	11
	9

	10
	10

	9
	11

	8
	12

	7
	13

	6
	14

	5
	15

	4
	16

	3
	17

	2
	18

	1
	19


4.  (10pts)  Suppose this product is produced by a single-price monopolist.  What quantities of output can you be certain would never be produced by the monopolist facing this market demand?  Explain.

5.  (15pts)  Suppose that there are no fixed costs of production.  The marginal cost of producing is $9 per unit, regardless of how much the firm produces.  How much would a single-price monopolist produce, and what price would it charge in order to maximize its profits?

6.  (25pts)  Suppose that there are no other costs associated with developing or producing this product, aside from the constant $9 marginal cost of production.   Explain, as thoroughly  as possible, the advantages of having a competitive rather than a monopolized industry produce this product.  In your answer, you should compare the quantities produced and prices charged when the industry is competitive versus monopolized.  Your answer should refer to the amounts of consumer surplus, producer surplus, and dead weight loss that exist in the competitive industry versus the monopolized industry.  You can use the attached notebook paper for your answer.
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